Identif.CD: Narex CZ

775589

str.1od 3



775589 Identif.CD: Narex CZ

Poz Cislo Nazev M | Odkaz Norma Pozhamka Cena Ména |Nahrazuje |Nahrazuje
ice n. II. L.
1 66591572 Matice 1 |EBU 15 (PFisl.)

2 66592130 Upinaci pfiruba 1 |EBU 15 (PFisl.) 591799
3 66621213 Vieteno 1 |EBU 18 C-A 775648
4 |614859 Sroub 4 |M5x16 K SF

5 615017 Podlozka 4 |5.1 CSN 02 1740.05

6 66622031 Loziskové viko 1 |EBU 23 F-A 775647
7 66591316 Vyrovnavaci podlozka 1 |EBU 18-E2

8 594455 Krouzek 1 |EBU 18-E2

9 66616532 Lozisko 1 16203 2RSH

10 | 615013 Podlozka 3 (4.3 CSN 02 1702.15

11 |614841 Sroub 3 |M4x12 K SF

12 | 66634620 Prevod Uplny 1 |EBU 23 C-A

13 | 66614897 Jehlové pouzdro 1 |HK 0912 ISO 3245 410632
14 | 622416 Montazni sada 1 |EBU 18 C-A 592281
15 | 66594717 Pruzina 1 |0.63x7.66x13.2x5 DIN 17223 D

16 | 66595457 Blokovaci ¢ep 1 |EBU 18 B-A 405528
17 | 625548 Sroub 8 | 5x30 Eco-syn Torx 614453
18 | 66775635 Drzadlo 1 |AGP 180 (PFisl.)

19 | 614472 Matice 1 | M8x1 DIN 985 KI.8

21 |66622124 Tésnici Snek 1 |EBU23F-A

23 | 66614869 Lozisko 1 | 6202 2RS1TN9 GWF4VP178 789775
24 | 66591229 Pfichytka 1 |EBU 18-E2

25 614340 Sroub 3 |Mdx12 M

26 | 66405600 Ventilator 1 |EBU 18-E2 SV 30 301

27 |66591273 Rotor 1 |EBU 18 B-A

28 66619622 Lozisko 1 629 2RSH C3 LHT 23 615160
29 66775630 Pouzdro loziska 1 |EBU 18 C-A CSN 62 0002

30 |66594458 Vzduchovodna vlozka 1 |EBU 18-E2

31 |614338 Sroub 6 |ST 3.9x16 DIN 7981 F-Z 614446

str. 20d 3



775589 Identif.CD: Narex CZ
Poz Cislo Nazev M | Odkaz Norma Pozhamka Cena Ména |Nahrazuje |Nahrazuje
ice n. II. L.

32 |615024 Podlozka 4 4.3 CSN 02 1745.05

33 |66591401 Pfichytka 4 |EBU 18-E2

34 | 66628844 Stator 1 |EBU 18 D-A 594927
35 |66622239 Pfipojné vedeni 2 |EBU 23 F-A 595064
37 | 775640 Motorova skiin 1 |EBU 18 D-A 623208
38 |66591977 Drzadlo 1 |EBU 18 B-A

40 | 66614965 Rezistor 1 | TR 260/1 5R0/] 615163
42 | 66615164 Pfichytka 1 |Eisele 1601 302 018

43 | 66614382 Spinac 1 |Marquardt 1362.0105

45 614336 Sroub 4 | M4x14 DIN 7985 A-Z 614411 614987
46 |614451 Sroub 2 |ST 3.9x13 DIN 7981 F-Z 614445
47 | 405519 Vicko 2 |EBU 18 D-A

49 66622192 Drzak kartace 2 |EBU 18 C-A 620639
50 |66627024 Kartac; sada 2 ks 1 |EBU 18 C-A

51 |66404446 Navlacka 1 |EBU 18-E2

52 | 775660 Pohyblivy pfivod 1 |HO7 RN-F EURO L=3m 30/30 592171
53 |66619743 Kli¢ 1 |EBU 15 (PFisl.) 406343
54 | 66595496 Kryt 1 |EBU 23 B-A

55 |615435 Podlozka 1 |64 CSN 02 1702.12

56 | 615414 Sroub 1 | M6x25 €SN 02 1143.55 615412
57 |616048 Klig 15 ¢SN 23 0710.9 (Piisl.)

58 |615026 O krouzek 1 |80x2 CSN 02 9281.2

59 |66621974 Ucpavka 1 |EBU 23 F-A

61 |66621976 Tésnéni 1 |EBU 23 F-A

62 |66592896 Vyrovnavaci podlozka 1 |EN 35B/B CSN 42 5350.41

str. 30d 3




